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Converting mixed numbers to
improper fractions

o Convert the mixed numbers into improper fractions.
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e Match each mixed number to the improper fraction
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| o Write the improper fraction for each mixed number shown.
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3 Convert the mixed numbers into improper fractions. * g7
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b waiter i3 % litres of juice. A glass holds l{ of a litre. How many

~ glasses can the waiter fill?
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Unit 8: Fractions (1), Lesson 3

) How many s kg weights would balance the box?
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o Complete the missing numbers.
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| Reflect }

Draw a diagram to show why 2 £ = £.
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